AN & 0 & A
20118 =& 2 3 JIESE3H &l (e &)
EO0F- 22 - ZHAIY - S2AALS (S H) Off &F oH J & A HwsS2 =
ES Al 150,890,861 138,986,627 11,904,234 8.57%
ALY 127,266,830 115,454,778 11,812,052 10.23%
MWEes 21,675,745 21,657,944 17,801 0.08%
HY2HZ I 1,948,286 1,873,905 74,381 3.97%
QS ISHH 50,000 50,000 0 0.00%
MWE-28 50,000 50,000 0 0.00%
IWES 2= 50,000 50,000 0 0.00%
SBEXNE(FHAMASESIA) 50,000 50,000 0 0.00%
B3ES 125,390,928 114,370,016 11,020,912 9.64%
&otE - 2 125,390,928 114,370,016 11,020,912 9.64%
= ZEH 11,250,020 10,529,300 720,720 6.84%
R FOXJ(FEMNLALELSIH) 787,249 787,249 0 0.00%
FZINEAL (=EIMEASEE S ) 6,980, 138 6,425,418 554,720 8.63%
BHAXGN ML (EIMLAISSESIH) 3,047,728 2,881,728 166,000 5.76%
EHEIZANEEXN2G (EMEAILSE S H) 434,905 434,905 0 0.00%
ot=% ¥ XIdt==2t2| 94,005,132 83,722,741 10,282,391 12.28%
Stedel elZetRE (St AL SE 3 ) 830,000 100,000 730,000 730.00%
St=Z 2l EX(EMEAISSESIH) 43,998,816 44,886,216 A 887,400 A 1.98%
of=2H AX (St AL SESIH) 9,669,565 4,629,774 5,039,791 108.86%
AT Al St HUIAS (FEMLALEL 14,902,000 9,502,000 5,400,000 56.83%
A)
St=ZLHEAIE 222 (=ML AISEE 22,029,891 22,029,891 0 0.00%
3l
FoMelAE 22 (EMLEMLESLSIAH) 512,576 512,576 0 0.00%
Kot BE(ot-=SAISSE 3 H) 96,552 96,552 0 0.00%
NEEE S3HEAIE 22 (=EMLAL 1,065,732 1,065,732 0 0.00%
SesH)
SAFAl ot=EFH| JI2HEHE (2L ALY 900,000 900,000 0 0.00%
S43IH)
Hees(sdn) 1,300,000 1,300,000 0 0.00%
BEXE(ZENLALSLESIH) 1,300,000 1,300,000 0 0.00%
HRES(ot4=1t) 18,835,776 18,817,975 17,801 0.09%
WEHAHXIE (St AL EE 3 A) 18,833,876 18,817,975 15,901 0.08%
SEXE (ST AL SE3IAH) 1,900 0 1,900 100.00%
NN 6,426,401 6,307,839 118,562 1.88%




S0t 22 - HHAY - SA A o ol E o HImE=ET
z28
EF 3,565,696 3,447,134 118,562 3.44%
=HIBIE RS 3,341,727 3,223, 165 118,562 3.68%
NASE ASNH(AESHAMLSE S 3,341,727 3,223, 165 118,562 3.68%
WL ES(ABI=X D) 223,969 223,969 0 0.00%
)E@m%(ﬂﬁaomg)(e@am 223,969 223,969 0 0.00%
z 2,860,705 2,860,705 0 0.00%
=S E I 2,860,705 2,860,705 0 0.00%
AFE PR (FAASH 2,860,705 2,860,705 0 0.00%
£52DE 5,630,038 5,131,173 498,865 9.72%
HERS - 2551 5,630,038 5,131,173 498,865 9.72%
=1 8§48 N 5,630,038 5,131,173 498,865 9.72%
EDE MEIA HE(DREANSSHS 4,648,447 4,214,582 433,865|  10.20%
DEUF 94 L DEAYS 178,217 123,217 55,000  44.64%
EHA 2Rl (REAMSSHE) 803,374 793,374 10,000 1.26%
IPHS(REHZ D) 0 0 of  100.00%
SENS(REALSHE) 0 0 of  100.00%
2EURANY 11,445,208 11,253,694 191,514 1.70%
~% e 1,918,080 1,918,080 0 0.00%
D2staHelE 29 1,918,080 1,918,080 0 0.00%
DISstaRelE 2Y(SENLAY 1,918,080 1,918,080 0 0.00%
X2 E Al 1,267,514 1,076,000 191,514 17.80%
IBIEIESE 128,782 36,000 92,782|  257.73%
IIBASSTAMS2SY(DIBALLR L 2 128,782 36,000 92,782|  257.73%
LB
AIDH 2 1,138,732 1,040,000 98,732 9.49%
A I101T 8 T AIE AL (ZD101E 8 = 1,138,732 1,040,000 98,732 9.4%%
EEPENEELST
ArRiEX 8,259,614 8,259,614 0 0.00%
MY sBHA 2Y 6,993,614 6,993,614 0 0.00%
MREBE B2l (SBXTEY 6,993,614 6,993,614 0 0.00%
©33)
fzs 1,266,000 1,266,000 0 0.00%
PENE (52X REL UL/ A 1,266,000 1,266,000 0 0.00%
JIEt 1,948,286 1,873,905 74,381 3.97%
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